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Question: 1 
   
In Business Process Choreographer Explorer, what is the stopReason when an activity is stopped 
because the evaluation of a transition condition failed? 
Response: 
 
A. Activation failed 
B. Implementation failed 
C. Exit condition is false 
D. Follow-on navigation failed 
 

Answer: B     
 

Question: 2 
   
Which statement is true of transaction behavior settings for invoke, human tasks, and snippet activities? 
Response: 
 
A. 'Requires new' guarantees that the activity runs in a new transaction 
B. 'Requires own' prevents an activity from being part of the transaction 
C. 'Commit before' guarantees that the activity runs in a new transaction 
D. 'Commit during' allows the transaction to committed at a specified point in the activity 
 

Answer: C     
 

Question: 3 
   
In IBM Business Automation Workflow, what is the supported JDBC Provider when using IBM DB2? 
Response: 
 
A. DB2 Hive JDBC provider 
B. DB2 Big SQL JDBC provider 
C. DB2 Universal JDBC Provider (XA) 
D. DB2 Data Server JDBC Provider (XA) 
 

Answer: D     
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Question: 4 
   
Which method is used to emit BPEL process events? 
Response: 
 
A. Event Framework (EF) 
B. Audit Event Framework (AEF) 
C. Static Event Framework (SEF) 
D. Dynamic Event Framework (DEF) 
 

Answer: D     
 

Question: 5 
   
Which two statements are true about the Fan In mediation primitive? 
Response: 
 
A. It can be used without the Fan Out mediation primitive 
B. With the stop terminal wired it causes the incomplete output terminal to be fired 
C. It evaluates an XPath of the input message and if it evaluates to true, it fires the output terminal 
D. It fires the output terminal when a set number of messages are received at the input terminal and 
then stops accepting messages 
E. It waits to receive all of the messages produced by the corresponding Fan Out mediation primitive 
and then fires the output terminal 
 

Answer: C,E     
 

Question: 6 
   
Which statement defines a Collaboration Human Task? 
Response: 
 
A. A service schedules work for a human 
B. A human schedules work for a service 
C. A human schedules work for another human 
D. A service schedules work for another service 
 

Answer: C     
 

Question: 7 
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Which statement about business object parsing mode is true? 
Response: 
 
A. Eager parsing mode is a legacy mode from previous versions and should be avoided 
B. Business object parsing mode is defined on a module or library when it is exported or deployed 
C. Applications that parse very small XML messages are likely to perform better using an eager parsing 
mode 
D. A module or library configured with lazy parsing mode is only compatible with libraries using the 
same parsing mode 
 

Answer: C     
 

Question: 8 
   
Error handling in a mediation module is being implemented. The desired behavior is that when an error 
occurs in a component, a message should be logged and then the mediation flow then throw an 
exception up to the BPEL flow that called it. 
Which two primitives should be used to implement this behavior? 
Response: 
 
A. Stop 
B. Fail 
C. Throw 
D. Callout 
E. Message Logger 
 

Answer: B,E     
 

Question: 9 
   
Which statement describes Business Object maps? 
Response: 
 
A. They are used in Mapping primitives 
B. They are the only way to interact with Service Message Object attachments 
C. They allow the creation of custom transformations based on SDO data access 
D. They generate standard XSL which is used at run time to perform the data transformation 
 

Answer: C     
 

Question: 10 
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All adapters that were installed with the product and their version numbers can be found in which path? 
Response: 
 
A. <installRoot>\J2C 
B. <installRoot>\EIC 
C. <installRoot>\Connectors 
D. <installRoot>\ResourceAdapters 
 

Answer: D     
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